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(0, 4 + j0, 2)Ω

(2, 7 + j1, 35)MVA

(0, 6 + j0, 3)Ω

(1, 6 + j0, 8)MVA

(0, 4 + j0, 2)Ω

(0, 3 + j0, 15)MVA

(0, 8 + j0, 4)Ω(1, 1 + j0, 55)MVA

(0, 2 + j0, 1)Ω

(0, 5 + j0, 25)MVA

(0, 2 + j0, 1)Ω(0, 5 + j0, 25)MVA

(0, 8 + j0, 4) MVA

(0, 3 + j0, 15) MVA

(0, 6 + j0, 3) MVA(0, 5 + j0, 25) MVA (0, 5 + j0, 25) MVA

∆U1−2 =
2, 7 · 0, 4 + 1, 35 · 0, 2

10
= 0, 135 kV U2 = U1 −∆U1−2 = 10, 2− 0, 135 = 10, 065 kV

∆U2−3 =
1, 6 · 0, 6 + 0, 8 · 0, 3

10
= 0, 12 kV U3 = U2 −∆U2−3 = 10, 065− 0, 12 = 9, 945 kV

∆U3−4 =
0, 3 · 0, 4 + 0, 15 · 0, 2

10
= 0, 015 kV U4 = U3 −∆U3−4 = 9, 945− 0, 015 = 9, 930 kV

∆U2−5 =
1, 1 · 0, 8 + 0, 55 · 0, 4

10
= 0, 11 kV U5 = U2 −∆U2−5 = 10, 065− 0, 11 = 9, 955 kV

∆U5−6 =
0, 5 · 0, 2 + 0, 25 · 0, 1

10
= 0, 013 kV U6 = U5 −∆U5−6 = 9, 955− 0, 013 = 9, 942 kV

∆U3−7 =
0, 5 · 0, 2 + 0, 25 · 0, 1

10
= 0, 013 kV U7 = U3 −∆U3−7 = 9, 945− 0, 013 = 9, 932 kV

Umin = 9, 93 kV ∆Umax = 10, 2− 9, 93 = 0, 27 kV ∆Umax =
0, 27

10, 2
· 100 = 2, 65%
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∆P1−2 =
2, 72 + 1, 352

102
· 0, 4 = 0, 0365MW = 36, 45 kW

∆P2−3 =
1, 62 + 0, 82

102
· 0, 6 = 0, 0192MW = 19, 2 kW

∆P3−4 =
0, 32 + 0, 152

102
· 0, 4 = 0, 0004MW = 0, 45 kW

∆P2−5 =
1, 12 + 0, 552

102
· 0, 8 = 0, 0121MW = 12, 1 kW

∆P5−6 =
0, 52 + 0, 252

102
· 0, 2 = 0, 0006MW = 0, 625 kW

∆P3−7 =
0, 52 + 0, 252

102
· 0, 2 = 0, 0006MW = 0, 625 kW

∑
∆P = 69, 45 kW

∑
P = 2.700 kW

∑
∆P =

69, 45

2.700 + 69, 45
· 100 = 2, 51%
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56 7

∆P = 36, 45 kW

(2, 7 + j1, 35)MVA

∆P = 19, 2 kW

(1, 6 + j0, 8)MVA

∆P = 0, 45 kW

(0, 3 + j0, 15)MVA

∆P = 12, 1 kW(1, 1 + j0, 55)MVA

∆P = 0, 625 kW

(0, 5 + j0, 25)MVA

∆P = 0, 625 kW(0, 5 + j0, 25)MVA

(0, 8 + j0, 4) MVA

(0, 3 + j0, 15) MVA

(0, 6 + j0, 3) MVA(0, 5 + j0, 25) MVA (0, 5 + j0, 25) MVA

U1 = 10, 2 kV U2 = 10, 065 kV

U3 = 9, 945 kV

U4 = 9, 930 kV

U5 = 9, 955 kV

U6 = 9, 942 kV

U7 = 9, 932 kV
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